8. B{fiKiR (HHISEE)

(1) EREE R ERIRAR 35
N H B % ® oS
M iz 1 i
s MEEHK HE Rkt £%8 Rkt = ALt
ik 15%2) (t) (%) (FH) (%) (t) (%)
NEM A EH TS 6 6 191,155 82.5| 41,606,835 82.0 46,985 85.7
g (RE#GHENS 12 12 40,588 175 9,148,437 18.0 7871 143
& &t 18 18 231,743 100.0| 50,755,272 100.0 54,856 100.0
= H B # A
YN iz 1 i
™5 HEEH = Rkt £%8 Rkt = ALt
& [hmRS (t) (%) (FH) (%) (t) (%)
NEM A EH T TS 5 5 15,150 100.0| 20,717,605 97.9 6,059 100.0
wy | R E 5 EH ST T IS 1 439,628 2.1
& &t 6 6 15,150 100.0| 21,157,233 100.0 6,059 100.0
n = B £ 1t %
1E iz 1 i
™5 HEEH = Rt £%8 Rt = AL
ik =%, (t) (%) (M) (%) (t) (%)
NSl 1 1 811,299 35.3
RE#HEFTEHS 2 2 1,486,794 64.7
& &t 3 3 2,298,093 100.0
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ES T O a =t
ok} AL BE AL Eat L] AL HE AL Ea L] AL
(FF) (%) (t) (%) (FF) (%) (t) (%) (FF) (%)
21,299,683 86.1 2,194 66.4 495,791 62.8 240,334 82.9| 63,402,309 83.1
3,440,935 13.9 1,112 33.6 293,438 37.2 49,571 17.1] 12,882,810 16.9
24,740,618 100.0 3,306 100.0 789,229 100.0 289,905 100.0| 76,285,119 100.0
¥ z O a &t
ok} AL BE AL Eat L] AL BE AL Eat L] AL
(FF) (%) (t) (%) (FF) (%) (t) (%) (FF) (%)
9,188,691 974 10,360 100.0| 10,904,767 97.7 31,569 100.0| 40,811,063 97.7
240,900 26 262,076 23 942,604 23
9,429,591 100.0 10,360 100.0{ 11,166,843 100.0 31,569 100.0( 41,753,667 100.0
(3 z O & &t
ok} AL BE AL Eat L] AL BE AL Eat L] AL
(FFM) (%) (t) (%) (FM) (%) (t) (%) (FM) (%)
152,551 85.2 54,319 251 1,018,169 378
26,469 14.8 162,085 74.9 1,675,348 62.2
179,020 100.0 216,404 100.0 2,693,517 100.0
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